Truth Test :

Which truth tests would you run to test the truth of the following:
l. coherence (logical truths)

B correspondence (observational truths)

A. Metals expand when heated.
B. It is raining.
C. A triangle has 3 angles.

D. All white cats are deaf.

E.  The population of Tokyo is larger than Hong Kong.
F.  All wives have husbands.

G.  Mars has two moons.

H.  The best team will win the World Series.

L. If Bert is a younger son, then he Iis a brother.

J.. Itis now raining in Rio.

K.  The hydrogen atom has one electron.

L. You ar; either here or somewhere else,

M.  There is an elephant in this room.

N.  There is an invisible elephant in this room.




